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1) 04:16 am To 06:22 am 2) 5 2g-6 1, 3) (-90) + 10
Answer: Answer: Answer:

4) A number was shared in the ratio 5) A number was shared in the ratio 6) Convert the following improper
18:9. The larger share was 28. What 18:9. The larger share was 28. What fraction 58/q + 1%/, into amixed
was the smaller amount? was the smaller amount? number

Answer: Answer: Answer:

7) 13345~ 15.7 8) Find the mode of the following set of data: 9) 2 3/10 -5 1/2

45,45, 23,23,4,4
Answer: Answer: Answer:
10) 77.9 + 25.8 11) Find the mode of the following set of data: 12) 5 6/7 -4 3/8
27,27, 21, 21, 30, 30, 30
Answer: Answer: Answer:

13) Y-l 14) 17.1+19.4 15)  Convert the following improper
fraction 5%/, + 4%/ into amixed
number

Answer: Answer: Answer:
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16) Convert the following improper 17)  Findthemedian of the following set of data: 18) 10000 + 1000
fraction 5%/ + 48/ into a mixed 28,2,19,20,7
number
Answer: Answer: Answer:
19) 63.7+65 20)  69.2+385 21) 6% x 1%/,
Answer: Answer: Answer:
22) 202x2+7 23) 4, x 11, 24) A number was shared in theratio
9:15. The smaller share was 27.
What was the total amount shared?
Answer: Answer: Answer:
25) Find the mode of the following set of data: 26) Find the mean of the following set of data: 27) Find the mean of the following set of data:
48, 48, 48, 30, 30, 30, 30, 3,3,3,3 8,0.8,3,3 0208 8,0.8,3,3,020.8
Answer: Answer: Answer:
28) 256+ 1.6 29) 171.76 + 11.3 30) 9.7x17.1
Answer: Answer: Answer:
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31)  27%of 37 32) 8-31, 33) 6 1,-5 4g
Answer: Answer: Answer:
34) 12+16-9 35) 25/, x 21, 36) A number was shared in the ratio

14:1. The smaller share was 35.
What was the larger amount?

Answer: Answer: Answer:

37) 8/1 = ll/lO 38) Find the median of the following set of data: 39) 0x (-22)
35,13,24,6,31, 23,5

Answer: Answer: Answer:

40) 2 +18, 41) 315+ 141 42)  Convert the following improper
fraction 5%/ + 52/ into amixed
number

Answer: Answer: Answer:

43)  Convert the following improper 44) Yo+ Yg 45) W - .

fraction 4%/ + 31/, into amixed
number
Answer: Answer: Answer:
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46) 4 (-6) 47) L10-4g 48) 2875+ 125
Answer: Answer: Answer:
49)  08:54amTo012:12 pm 50) 5 2,-4 Y,
Answer: Answer:
Total: /50
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1) 02 Hours 06 Mins
8) 45

15) 10%,,

22)

29) 15.2

36) 490

43) 8%,

50) 4,
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2) 24,

9) 6%/
16) 10%,
23) 30

30) 165.87
31 7%,
44) 5

3)-9

10) 103.7
17) 19
24) 72
31) 9.99
38) 6

45) 1%,

MATHS WORKSHEET

Answers:

4) 14
11) 30
18) 10
25)3
32) Y,
39)
46)

5) 14
12) 177/
19)9.8
26) 2.63
33)%,
40) ¥g
47) Iy

6) 7714
13) 4%
20) 107.7
27) 2.63
34)8

41) 3%
48) 23
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7)85
14) 365

0,
21) 1020/,
28) 1.6

1

35) 61/,

1
42) 10%%
49) 03 Hours 18 Mins
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